al Filters

Optics Cage+V AT In

Optics Cage Plus System

4FDHA ROy RETL— NP I THZBHRBRIC. TERYITVETS
A XY M EBBIC

FEIVK—2RY M« ROvY RICEAICIZHIAHTTRE
e A-Line™YU—-XEHiEHESHD

ort® Efffld R — L= (www.newport-japan.jp)IC T TH




Optics Cage+Y U—XAEBEEVDI Y b

Optics Cage Plus Fixed Optic Mounts

Optical Filters 369

NRG2EKHE

<
|
F
N
1A VFEBEYD Y MNFa—T, TUXL Z5— TA4T795—. T4I5— LVATY, ;“
EFIL g BEfZ [in.(mm)] O [mm] E# [mm] (7=} s %
0C1-BT Fa1—JH 1.0(25.4) 7ILE ﬁ
0C1-CM-P JUXLHA 1.0(25.4) 239 254 7= &
0C1-DB =5-HA 1.0(25.4) 29 6.4 7= N
0C1-DM F4TU5—R 7ILE 818> U —X[AlF j
0C1-FH J4IL5—H 1.0(25.4) 239 6.4 IV Q
0C1-LH1 (V| 1.0(25.4) 23.9 6.4 7IL=
0C1-LH1-S LA 1.0(254) 239 6.4 7ILE BEL VX[ N
0C1-LH1-TZ LY XA 1.0(25.4) 239 6.4 FILS BALYXET §
0C1-LH1-RMS L~ X IV G
=
\ 01.575
\ (40mm) \
1.240
(31.5mm)
2.350
(59.7mm) <
1.00
(25.4mm)
200 Q\S 40 (10.2s
(50.8mm) QQ .40 (10.2mm)
1 u
N
4X @6mm ')IJ'
\
T
d
>
<
™~ DIMA \f
Model Dim “A” ‘\ ]
0C1-LH1  1.035-40 Thd. Thru 1.00 (25.4mm) N
\!
0C1-RMS  0.800-36 Thd. Thru N -
0C1-DM  1.505in. (38.2 mm) Thru N
0C1-BT 1.26 in (32.0 mm) Thru 2.00 (50.8mm) \—l’)ﬂﬂ
35
<4
7'\11k
w
\
T —

EffiI3 8t R — LN—J (www.newport-japan.jp)ICC SR L IEEL)

Q> Newport’



370 Optical Filters

Model OC1-CM-P Model OC1-DB

\i&}o(ﬂlmm) ;
lﬁ\ /

(26.9mm)

8-32 NYLON TIP SET SCREW 200
FOR LOCKING OPTICS

2X C'SINK FOR 6-32

llell}

.50

(12.7mm)
23!
94 C/A
.94 (23.9mm) ]
18 TYP
(4.6mm) g
LIJX M2.5 SHCS

e

1.36 (34.5mm) 8-32 THREADED HOLE
\/ % FOR POST MOUNT

1.04
(26.4mm)

m_-igm,/ ﬁq
\\

1.00 (25.4mm)

\

Model OC1-LH1-S

Ayvvy| L—ILYRATL | BAXEIDVH

02.00
(50.8mm)

Model OC1-FH LN

(33mm) 1.035-40 THREADED HOLE J\
13TYP

8.32 THREADED HOLE
’ ‘ ‘ ‘ ‘ O Nswport ‘ ‘ ‘ ‘ ‘ ON CENTER OF BASE

X7

0700
40 (50.8mm)

83mm) 1.035-80 THREADED HOLE

16X 8-32 THREADED HOLE

8-32 THREADED HOLE
ON CENTER OF BASE

— .40

8X 8-32 THREADED HOLE

2X M2.5 SHCS
57 FOR LOCKING

1.
% ] CAGE ROD —\

19 135 =
2.05 (2]

* . Model OC1-LH1-TZ

— 1.035-40 THREAD THRU —

WITH 2 RETAILNING RINGS 058 CAWIRETAINING
124 RINGS INCLUDED -
) k<
L 1.35
75 13 [343 ]
[191 { [s2]

83
159 ]

U 1

T4IH—< DV N AVKR—XV K

1.00 X017 FULLR
T[54 ‘*¢
7

A L% £ )

:\’?.L [:?]J L[Lfs] . T
'H’b:\ 318
A
R

N

Q> Newport’ Efffld R — L= (www.newport-japan.jp)IC T SRR L EE L)



Optical Filters 371

OpticsCage+Y U —XRABEBHEIYOV M

Optics Cage Plus Adjustable Mounts

NRG2EKHE

<
X
=
\ll
N
A UFEBREF. S5—. T15— LY ARBEEGETDY NTT, o
EFI & B4 [in.(mm)] 0% [mm] E# [mm] SREEEEE 18 e é‘_
0C1-DB-PY =5—H 1.0 (25.4) 23.9 6.4 +4° 7IL= I
0c1-FB J4IL5—H 1.0 (25.4) 2.9 64 7= HEEIDER T g
0C1-LH1-XY T4 IL5—H 1.0(25.4) 239 6.4 +1.3mm ZIL= X, YEhEREED] W
0C1-LH1-XYA J4I5—H 1.0 (25.4) 23.9 6.4 +1.3mm 7IL= 0x, Oy, X, YEHEEEEE] 3
0C1-LH1-XYC PN 1.0 (25.4) 23.9 6.4 +1.0mm 7IL= X, YEfEEEET] 3

0C1-LH1-XYZ LY ZXH 1.0(25.4) 23.9 10 +1.0mm 7IL= X, YERSEEEa]
0C1-ME BH=>—H 1.0(25.4) 23.9@45° 6.4 +1.0mm 7= [Eb=3ZN 31
0C1-MM =5—H 1.0(25.4) 18@45° 6.4 +1.0mm 7= [E1=5ZN oy
0C1-PR fmAFH 1.0(25.4) 19.2 6.4 360° ZIL= NP1RY g

0C1-1Z 2AF—IJH +6.5mm 7ZIL= TEENEF13mm
0C1-TZ-M AF—IH +6.5mm 7IL= XYAoOAA—=5 =1L 5
2
N
g
Model OC1-DB-PY Model OC1-FB ST'
2.00 76 €
il HE 7

[z'u;:r],] [;52_1] 16X 0.24[6.0] B
ij.» ‘ Al 4 5/64 [2] HEX KEY [;;3] i
i Q\\x [597 ] CLAMP SCREW L .
24] ¢ i s |
T 100 [1:54 ] (0]
nalr 7S e EEH]CS @10 ) - 1 [508 ]

CBORE FOR 1/4-20
FARSIDE

[127] ® n
8-32 UNC-2A TAPPED
< ¢ A 1] SH |

T 2 caoRE FoR
[‘ 0 1 8-32 FARSIDE

NAZG2—ga(rC| Nrk—nC

EffiI3 8t R — LN—J (www.newport-japan.jp)ICC SR L IEEL)

Q> Newport’



LY ZXRILS

Ayvvy| L—ILYRATL | BAXEIDVH

AHZ

N—2&TS5T v b 7oty

KA R&Ow R
A

~
N
N L
|
EE
N
mn
S
N
D
T
Q\
=
¥
N
N
m
L

372 Optical Filters

Model OC1-LH1-XY

AL

4
o [[[]]] 1@ ][]
usu?m) [W " >
! \ \

235
(s97mm) , by
(50.8mm)

©1IN. OPTIC, 041 IN. (104mm|THK. MAX

QS CCI-LHI-XY
o

| — X @6mm

mL
(40mm)

271 MAX
‘ (68.8mm)

£0.050 IN (+1.3mm) XY ADJUSTMENT

Model OC1-LH1-XYC

1.00
(25.4mm)
=
|-
11 (28mm) J 00 (50.8mm)
& MAX (66.0mm)
I wid I —)
dy A0 (102mm) QNEHTI0
(6omm) i i XD i
200 (50.8mm)

[@

G

235
(59.7mm)
2
(50.8mm)
1.00
(25.4mm)
®11N. OPTIC, 0.45 IN. (114mmITHK. MAX
+0.040 IN. (£1.0mm) XY ADJUSTMENT
=100 (25.4mm) ——
Model OC1-ME
MIRROR
CLAMP TO
HOLD
ELLIPTICAL
LENS
2X 100
[254 ]
SCALET: T ’
// ® 0
/ s 220 i
\ NOM [559 ] X 110
A | 3] lo @
8X 5/64 [2] HEX KEY T T
CLAMP SCREW 220 200
[559 ] [508 ]
)
)
Model OC1-PR Ll —
[ ¢ T
BLE
= -3X Ma POST MOUNT HOLES

ROTATION LOCKING

3832 POST MOUNT HOLES

.\

Q> Newport’

01575
(40mm|

2X1.035-40 THD

4X (.24 [6.0] FOR
RODS 2 PL ON
40X40 MM PATTERNS

I

Model OC1-LH1-XYA

241
1611 ]
NOM
200
” [508 ]
n [54] 4X 5/64 [2] HEX KEY
[0 ] — CLAMP SCREW
v
i) 241
235
¢ [597 ] Lot ]

(54 S\
T 100 T

[254] 1.035-40 THD
T 32[81]
094{233] CA

8-32 UNC-2A TAPPED

¢%§ﬁ

Bt 1THI
s b | .
[38]

1.00

[254 ]

] Nom

1.035-40 THD
M0 Vg

4 5/64 [2] HEX KEY [254 ] 094(23.9] CA

CLAMP SCREW FARSIDE

8X8-32 CAGE ROD
LOCKING SET SCREWS

M4 POST MOUNT

832 NYLONTIP
SET SCREW FOR
LOCKING 0PTICS

SECTION A-A

4X 4-40 TAPPED HOLES

832 POST MOUNT

0TH INPUT
AND OUTPUT ENDS

3 11100 ®
DRIV SCREWS
103540 THRERD
ATEOTH \

SECTION BB

200
[508 ]
832 THD ON
131 il 05X05[127X127]
PATTERN

};}e

STAGELOCK —*1]

®.33[84]
ACCESS HOLE

4X 564 [2] HEX KEY
CLAMP SCREW 036
[os2]

K

[11 ]

ROD T0 STAGE - ’* 54
SURFACE

L =Y

L= JEEE—[ “ e
9
[‘255 1 [232]
o2 (71

NOM 2 | FOR8-32(M4]

54
[138]

Model OC1-TZ

Effil3 8t R — LN—I (www.newport-japan.jp)ICCT SR L IEE L)



Optical Filters

OpticsCage+¥ U—XFa1—-THVIV b

Optics Cage Plus Cube Mounts

AV FEF1—THOY DY FTT,

373

0C1-CM 4 = 1V FF21—TH
0C1-CM-A MY SREEEnE 10
11VFFa21—TH
0C1-CM-B ~N—2H Fa1—TJRE—-LZATY v I (PI2BER)
p >
. n ‘
0C1-CM-D 4004 vI=Z>5—H [EdH#3.2mm
0C1-CM-F J4)V5—H [239mm. [Ed+6.4mm
i T4I5—BIE—-LRTY v &5—[@)F
0C1-CMC HIN—=TL—rA

T —

EffiI3 8t R — LN—J (www.newport-japan.jp)ICC SR L IEEL)

Q> Newport’

NRG2EKHE

x| STLYsA—"1

&aA&RI

NAZG2—ga(rC| Nrk—nC




374

Filters

Optical

Model OC1-CM

BOTH TOP AND BOTTOM SURFACES

/

2,00 (50.8mm) 1.860 (47.2mm)

BOTH TOP AND BOTTOM SURFACES

1.00TYP
(25.4mm)

Dbmm TYP

1.035-40
110TYP (4) ples

(27.9mm)

CENTER MARK
(4) PLCS

O1575TYP
(40mm)

Model OC1-CM-B

Ayvvy| L—ILYRATL | BAXEIDVH

Xh=

32(8.1mm)
100 (25.4mm) ‘ ‘ T nf 5mm)
9632 v.25
832 725
©1.86 (47.2mm)
©2.09(53.1mm)
Model OC1-CM-F
JL
D
=
N
mn
@
JL
N L G i B aax
D 1833mm) 17
IT 2632 BHCS 75 (19.1mm)
g 1436mm) [ [ [
= U
V 151 (38.4mm)
N — mm) ————~]

A
1.00 (25.4mm]
[WITH .25 (6 4mm) ADJUSTMENT

Q> Newport’

Model OC1-CM-A

3X 5/64 [2.0] HEX TIP/TILT

ROLL & 2 ADJUSTMENT- #2.09[53.1]

1.01[28.3] |

=
P ﬁ 1.11[28.3
’ 2 2.79[70.8] // J -
g
0 8 X M2.5X0.457 .170
EQ SPACED ON @1.06 CLC
[ 5X M2.5X0.45
THRU

FINE TUNE 5/64 [2.0] HEX OPTICS
ENGAGEMENT SCREW LOCKING SETSCREW

MANUAL 360 DEGREE
ADJUSTMENT KNOB

7100 PITCH FINE TUNE
‘ ‘ ADJUSTMENT SCREW

2.34[59.4]

1.00[25.5
[255] T~ 5/64 [2.0] HEX FINE TUNE
LOCKING SETSCREW

Model OC1-CM-D

1.00 (25.4mm)

2100 (2.5mm)

12 (3mm) MAX
1.44{36.6mm)

1.04 {26.4mm)

£
(10.7mm)

2X CBORE FOR 6-32

A7 (4.3mm)

18 (4.6mm)

Model OC1-CMC

01575 (40mm)

01220 (55.9mm)

4X @.136

.05 (1.27mm)

Efffld R — L= (www.newport-japan.jp)IC T SRR L EE L)



4RDAA RO RE2{EDOCI-ANLY RTU— b7 TI—HEHEDSNIZETILTT,

OpticsCage+¥U—X0Ov R-PHI75—tv b

Optics Cage Plus Preassembled Segments

Optical Filters 375

NRG2EKHE

x| STLYsA—"1

&aA&RI

EFW fimE

0C1-SEG4 4inch (101.6mm)
0C1-SEG6 6inch (152.4mm)
0C1-SEG8 8inch (203.2mm)
0C1-SEG10 101inch (254.0mm)
0C1-SEG12 12iinch (304.8mm)

4X @ 6mm HOLES THRU.
USED TO ADAPT 30mm

L CAGE SEGMENT‘\

4X P émmY .2 [5] 4X 2[5]—= ﬁ

=—2.00[50.8 | —

‘%,&@@f

T

2.00[50.8] + 1.18[30] 1.57[40]
L _@ N @_ .
——0OC1-GR GUIDE ROD / 1.18[30]
(#4-40 THREAD ON ENDS) 2X 1.035-40 THRU.
~—— 1.57[40]
MODEL No. DESCRIPTION Lin [mm]
OCI1-SEG4 4" LONG CAGE SEGMENT 41101.6]
OCI1-SEGé6 6" LONG CAGE SEGMENT 6 [152.4]
OCI1-SEG8 8" LONG CAGE SEGMENT 8 [203.2]
OCI1-SEGI10 10" LONG CAGE SEGMENT | 10 [254.0]
OCI1-SEG12 12" LONG CAGE SEGMENT | 12 [304.8]

Naas..L

NA LR —N

NAZG2—ga(rC| Nrk—nC

EffiI3 8t R — LN—J (www.newport-japan.jp)ICC SR L IEEL)

Q> Newport’



376 Optical Filters

OpticsCage+¥U—XAH« FOvY R

Optics Cage Plus Guide Rods

EfRmm, 4-40RIFHE. ATV UARDAA ROY KT,

0C1-GR-1 1inch (25.4mm)

0C1-GR-2 2inch (50.8mm)

0C1-GR-3 3inch (76.2mm)
-ﬁ 0C1-GR-4 4inch (101.6mm)
’
D 0C1-GR-4S 4inch (101.6mm) ImmBEEfIE
5‘: 0C1-GR-6 6inch (152.4mm) OC1-A30IY RTIL—KFPH TH—,
§ 0C1-GR-6S 6inch (152.4mm) ImmBERTE Q#£23.9mm. F3#6.4mm
ek 0C1-GR-8 8inch (203.2mm)

0C1-GR-10 10inch (254.0mm)
ﬂ 0C1-GR-12 12inch (304.8mm)
X 0C1-GR-18 18 inch (457.2mm) \
Q 0C1-GR-24 24 inch (609.6mm) 'y
| 0C1-GR- inch (1524mm) .
= OC1-PMIRZ R k
i Model OC1-A30 Model OC1-A30
I; 4X p6mm fe——— 200(508mm)
a < X gbmm 1575 (40mm)
il T
H (5%;3?“, 50 (12.7mm) @ OC1-AT
! (m'ggm) —) Dy N

\ 138 N gom OC1-RH A-Line - Cage+ZER 75 75—
i . 1.035-40 THREADED HOLE " (NT"’ ﬁvk ® 48 (12mm)
8-32 THREADED HOLE
ON CENTER OF BASE 16X 8-32 THREADED HOLE .
Gl — | @ 24 (6mm)
®a2mm) —
= .04 (1.0mm) THRU
[=—1.300 (33.0mm) ™

Model OC1-A30 0C1-XCLZORIS VT

CBORE FOR 8-32/M4

.21 (5.4mm)

.35 (8.9mm)

OC1-AT 7SA XY hy—5w b

70
2,00 (50.8mm) (17.8mm)

Model OC1-A30 Model OC1-CMC

42 (10.7mm)

~
N
T
=
N
r
~
N
D
T
(’\
=
~
N

2K5/04 21 HEX KEY
i i CLAMP SCREW

42
[105]

S
FOR ¢6mm RODS

Q> Newport’ Efffld R — L= (www.newport-japan.jp)IC T SRR L EE L)



Models 9631 ~ 9636

8-32tzyh XY 21— 750L

2X 8-32 UNC-2B%y 7" V375

L 038

0.315

LA—3Y(www.newport-japan.jp)ICCSHERLEELY

&

EFIL L [in. (mm)]
9631 1.97 (50)
9632 3.94(100)
9633 5.91(150)
9634 7.87(200)
9635 9.84 (250)
9636 11.81(300)

RMS-RIT DY
I~ (P360SER)

l liﬁll\?'ﬁ‘/l\
' FIvav

(P460BER)



